ДЕЙСТВИЯ СО СТЕПЕНЯМИ
1. [image: image2.png]


   [image: image4.png]



                      n множителей
2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 = _____ = ______;       [image: image6.png]


 ______________________;
(—2,567)0 = ____; 712 = _______ = _______.

—27 = —3 ∙ (—3) ∙ (—___) = (—3)__ ;  [image: image8.png]


 

102 — 32 = _________________; 2 ∙ 34 — 3 ∙ 24 = ____________________________.
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                      n множителей
3 ∙ 3 ∙ 3 ∙ 3 ∙ 3 ∙ 3 ∙ 3 = _____ = ______;       [image: image34.png]d® =



 ______________________;
(—101,3)0 = ____; 642 = _______ = _______.

—32 = —2 ∙ (—2) ∙ (—___)∙(—___)∙(—___) = (—2)__ ;  [image: image36.png]


 

62 — 82 = _________________; 2 ∙ 53 + 5 ∙ 23 = ____________________________.
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